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WiEE BHSFERMERR T — 2T - SRR RERRE RS

% g R - KSR Bifr B 2 B i & B W =
BRI 10,667, 600 + 222,445 10, 890, 045
BEEAGE 10, 667, 600
BE#RE 222, 445
Z O fth SR f 10,667,600 x 53.85% ( 35% + (1 — 35%) ) 5,744,502
RHRIE 10,890, 045 + 5,744,502 16, 634, 547
—REEES 16,634,547 x 53.85% ( 35% + (1 — 35%) ) — 2,250 8,955, 453
KBS 16,634, 547 + 8, 955, 453 25, 590, 000
HETREALE 25,590,000 x 10.00% 2,559, 000
EBEREN 25,590,000 + 2, 559, 000 28, 149, 000
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4 [ I - KA BT #H =2 B * H =

EiER 10, 890, 045
FCLERR T — 2 BT - EEMERRAER 10, 890, 045
BREBT— 2 EEMEREER 10, 890, 045
BREBT— 2 EEMMHERAER 10, 667, 600
FHEEfE 415, 450
1 FHE#EfE 1.00 415, 450 415, 450

=
BAT—AMYELD 5,185, 000
2 B T—2ORMYEED 20. 00 259, 250 5, 185, 000

EFT (7)

BAT—2D0H 4,130, 500
3 EEHLO®ET 1.00 337,900 337,900

=
4 BAREEOEREDHME & HIE 20. 00 180, 600 3,612, 000

EFT (7)

5 #H DFHIEE 1.00 180, 600 180, 600

=
AT —42 OEEMRESR 80, 000
6 EBlDEEME T 1.00 80, 000 80, 000

=
[BETY)] 433, 550
1 EHFTREEER 1.00 433, 550 433, 550

=
Wi - | 423,100
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8 EAIHE 1.00 117, 400 117, 400
=]

9 PR E 1.00 117, 400 117, 400
=]

10 &#EHE 1.00 188, 300 188, 300
=]

E#EEE 222, 445

EHRARE 102, 445

N E=HAME 1.00 102, 445 102, 445
=

EBRERE 120, 000

12 £BHEMRE 1.00 120, 000 120, 000
=
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&5 1
&% FrEEE 1LY
2 b g - BIRTE By = B O ® # " =
HEnE B
A 1.00 70, 900. 00 70, 900
FEHER B
A 1.50 62, 200. 00 93, 300
HEm (A) B
A 2.50 55, 200. 00 138, 000
HEm (B) B
A 2.50 45, 300. 00 113, 250
& Hi 1YE%HeH - 1.00K 415, 450. 00 415, 450
&5 .2
& BRI T—AOmMYEED 1@ HY
2 b g - BIRTE By = B O ® # " =
HEm (A) B
A 1.50 55, 200. 00 82, 800
HEm (B) B
A 2.50 45, 300. 00 113, 250
g B
A 2.00 31, 600. 00 63, 200
& B 1EZHED - 1. 00&Fr (&) 259, 250. 00 259, 250
53
2% ERBLO®E 1LY
2 b g - BIRTE By = B Ol ® # " =
FEHER B
A 1.50 62, 200. 00 93, 300
HEm (A) B
A 1.50 55, 200. 00 82, 800
HEm (B) B
A 2.00 45, 300. 00 90, 600
HEm (C) B
A 2.00 35, 600. 00 71,200
& Hi 1E%HeH - 1.00K 337, 900. 00 337,900
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5 4
&% B REEOEEEDHE EHIE EREIED
2 b g - BIRTE By = B O ® # " =
FEHER B
A 1.00 62, 200. 00 62, 200
HEm (A) B
A 1.50 55, 200. 00 82, 800
HEm (C) B
A 1.00 35, 600. 00 35, 600
& Hi 1EZHED - 1. 00&Fr (B) 180, 600. 00 180, 600
F5 .5
B Y OEMHIRE 1LY
2 b g - BIRTE By = B O ® # " =
FEHER B
A 1.00 62, 200. 00 62, 200
HEm (A) B
A 1.50 55, 200. 00 82, 800
HEm (C) B
A 1.00 35, 600. 00 35, 600
& Hi 1E%HeH - 1.00K 180, 600. 00 180, 600
&S .6
%5 - BAIOSEMESTE 14y
2 b g - BIRTE By = B O ® # " =
FEHER B
A 1.00 62, 200. 00 62, 200
HEm (C) B
A 0.50 35, 600. 00 17, 800
& Hi 1E%Heh - 1.00K 80, 000. 00 80, 000
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&5 .1
£ EHTERBEEER 1LY
2 b g - BIRTE By = B O ® # " =
FEHER B
A 1.50 62, 200. 00 93, 300
HEm (A) B
A 2.50 55, 200. 00 138, 000
HEm (B) B
A 2.50 45, 300. 00 113, 250
HEm (C) B
A 2.50 35, 600. 00 89, 000
& Hi 1YE%HeH - 1.00K 433, 550. 00 433, 550
5.8
¥ . BATHE HEED)
2 b g - BIRTE By = B O ® # " =
FEHER B
A 1.00 62, 200. 00 62, 200
HEm (A) B
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 117, 400. 00 117, 400
59
& PRERE HEED)
2 b g - BIRTE By = B O ® # " =
FEHER B
A 1.00 62, 200. 00 62, 200
HEm (A) B
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 117, 400. 00 117, 400
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&5 :10
£ EW|E HEED)
2 b g - BIRTE BT o = B O ® W = " =
HEnE B
A 1.00 70, 900. 00 70, 900
FEHER B
A 1.00 62, 200. 00 62, 200
HEm (A) B
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 188, 300. 00 188, 300
&5 11
2% EHARE 1LY
2 b g - BIRTE BT H = B O ® W E " =
EXERARE
= 1.00 102, 445. 00 102, 445
& Hi 1E%HeH - 1.00K 102, 445. 00 102, 445
&5 .12
2% EBHRRERE 1LY
2 b g - BIRTE BT H = B O ® W E " =
EBHRERERE
= 1.00 120, 000. 00 120, 000
& Hi 1E%HeH - 1.00K 120, 000. 00 120, 000




